
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Monday 12/4-1

The Poisson distribution
.

Consider an event that happens, on average, X
ftimes in every interval lof time, space, etc . ) o

some fixed extent.

Examples :

(a) On average, in a meteor shower,
S meteorites hit the earth every square
kilometer.

seak Lours
,
25(b) On average , in Target during I

people enter the self-checkout live every 15
minutes.

(2) On average, a ster CPU
, running certaincoury

Tsoftware
,
receives 3 instructions

per
nanosecond

.

(d) On average, sample of solonium emits 3
. 8715C I

To
X-rays per

5 second period O

(e) On average, a large computer program-

contains & errors D
S
000 lives

of code. per

Let X denote the number of occurrences of this
event in an interval of thegiven extent . Question

:

given any integer 1, with 130, what is
P(X=k) ?

[Note : unlike the binomial distribution, there's no



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


